EAGRAROBREERT — 2 N— ABISH —F

20205452680 (H) 3mEm#ER2H

BEl=<>-*xCc G2 ¥5%4%L (ER) (%) 3%

‘ [R1&] & ‘ [REBB] — | Z (%) 16000 B

[~&4] 1 % 59,000,000 @ 2 7 :24,000,000 § 3 7 :15,000,000 0§

4 7% 18,900,000 . 5 & 5,900,000

& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
- . t 5 | tEAKIE— 1:32.4 4-3 33.0 [ 112.2| 1 476 | EEFE (FR)
111 T>T1Fv>7 * 56.0 ) ° (_26) BREH LY
L:XAF4d—=IL K B:J4IbINT— J—HrTr—LI
= A 8 | AEEA{EN 1:32.7 2-2 34.1 [ 107. 7 18 | BERBX (RR)
2055 NAF2HEY E 56.0 ! @) 070 (if)) MIBEER LT 1> T2 (1%)
L:24%Y v ML B:a¥x/3—44CK BREB 45
) S 44 | HHER 1:32.9 10-10 32.7|106.7 | 2 474 | BRERR (ER)
3 7 '77/ I‘#"\")[/ N ;.0 (11/2) -2) (H) *iff?\/*?(ﬂif;(
R:F4—=TA>NNT ~ B:XX7 HET7—L
: 47 | RERS 1:33.0 8-8 33.0 | 105.5| 8 472 | NBEZ (EH)
4/5/6|F—F7IZX K 56.0 1/2) (§) | @R O—Fx—2557
Loy DEdyk BieyULTILY TRIESR S
- = 4 B o4 | dtRE— 1:33.2 6-7 33.4/103.2| 3 462 | BDEE (ER)
57 10| T7 VT - 5.0 ) o | B e1L-sry
L:A—RKApFO7 B:7y—3 =Y Ty—LA
o K . o5 | BEHR 1:33.2 8-8 33.2(103.2| 4 492 | BRE (F®R)
6|8l12| Ly Fyz 1O~ 56.0 (NF) o) | @) FRE-2L-2>
R:FLITHANAN BIUEET S — J—HrTr—L
= o= AZEEN :33. - . . AHE (FEF)
S 24 TTS—F i o4 Yl 1(13/32>3 1-1 34.7| 99.0 | 6 <4+742) B
Lr—7F52a BivAT5—F 799577 — I
S . # o8 | K& 1:33.3 10-10 [ 33.0(102.1| 5 512 | EAEEE— (FH)
Ty T h—> 56.0 (7€) (+14) |HimRockRacingh—7F
LT RIA Y L= BOAYLTRY Y BINRT 7 — L
Y- — # 5 E%ﬂﬁ 1(’733t§ 5-5 33.9100.8| 11 494 i%@g (375)
R:TFyIEAK BIIRT—NRF—Y O Uk~ 240
2 > 7 | EXREH 1:33.8 3-3 34.5| 95.1 | 10 | 470 |KTIEE (EK#)
Rk} ~ '] 860 @172 6 | W) ST —5TLy KR
RixvyULgTyk BiA—g—L BEZZY K
N 4 o6 | BEREX 1:34.0 6-6 34.3] 944 | 9 496 | HWIIEE (F#)
2A LMY Y 7 56.0 (1 1/4) (+4) FHEF
L:A—-K7ITF1% B:3I)074+— KNI BR MR
o o6 | JIIEFFHE = = = = - 560 | =B R (BXR)
®7q47—/ 03—/ 56.0 (54 (+4) EEES
AL:Fastnet Rock F£#:Heart Ashley Kia Ora
@ 71 L
) 45.2-33.8
NA>Z4 L | 12.3-11.3-11.7-11.9-11.4-11.3-10.9-11.6
@ I —F—@EBIERL
13—7+—
230—7F—
Fol=5r= (x2,5)=8,1,9(3,10) (6,12) (4,7) 11
43—F— (x2,5)-(1,8)9,3,10(6,12) (4,7) 1
[ N3
BB 1 160/ 714K 1-5 680M e E 1-5 2,640 JEHE 1-5-7 2,550/
8 B 1 110 1-7 170H B = 1-5 2,800M @ I1=a=1 13,350M
5 370M 5-7 1,180 | | B B 1-5 2,750
7 120/

ABRICOVTHRTEEERROODE, THEB LS,




